MULTIPLE CNOICE -

P - Estimate 347 + 312 by rounding each number to the nearest hundred.

\ © The Maths Vault 2025




MULTIPLE CNOICE

Estimate 892 - 326 by rounding each number to the nearest ten.

590

.
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MULTIPLE CNOICE

Estimate 63 x 28 by rounding each number to the nearest ten.

1860

.
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MULTIPLE CNOICE -

P - Estimate 715 = 2 by rounding 715 to the nearest ten and 9 to the nearest ten.
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MULTIPLE CNOICE

Estimate the sum: 238 + 473 by rounding to the nearest hundred.

500

.
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MULTIPLE CNOICE

Estimate 4,362 - 1,287 hy rounding to the nearest thousand.

5000

.
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MULTIPLE CNOICE

Estimate 47 x 52 by rounding to the nearest ten.

2600

.
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MULTIPLE CNOICE

Estimate (189 + 423) by rounding each to the nearest hundred first.

800

.
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MULTIPLE CNOICE -

P - Estimate 831 < 8 by rounding 831 to the nearest hundred and 8 to the nearest ten.
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MULTIPLE CNOICE

Estimate 6,745 + 3,298 by rounding to the nearest thousand.

12,000

.
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MULTIPLE CNOICE

Estimate 124 x 7 by rounding 124 to the nearest hundred.

900

.
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MULTIPLE CNOICE

Estimate 5,432 - 2,189 by rounding each to the nearest hundred.

3,000

.
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MULTIPLE CNOICE -

P - Estimate (76 + 39) x 4 by rounding each addend to the nearest ten first.
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MULTIPLE CNOICE -

P - Estimate 92 - 3 by rounding 92 to the nearest ten and 3 to the nearest ten.
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MULTIPLE CNOICE -

P - Estimate the product of 34 and 18 by rounding each to the nearest ten.
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MULTIPLE CNOICE

Estimate 1,234 + 5,678 by rounding to the nearest thousand.

9,000

.
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MULTIPLE CNOICE -

Estimate 456 = 49 by rounding 456 to the nearest hundred and 49 to the nearest
e ten.
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MULTIPLE CNOICE

Estimate 58 x 24 by rounding each to the nearest ten.

1600

.
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MULTIPLE CNOICE -

P - Estimate 417 = 6 by rounding 417 to the nearest hundred and 6 to the nearest ten.
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MULTIPLE CNOICE -

P - Estimate the difference: 905 - 378 by rounding to the nearest hundred.
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MULTIPLE CNOICE

Estimate (1,502 + 2,498) by rounding each to the nearest thousand.

4,500

.
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